Practice - Adding and Subtracting Integers | MFM1P

If you use the rules below, you should always get the correct answer!

1St 2nd (X)
The first number is your starting point, plot it on the number line. sign sign (+)
If there are two signs between the integers, simplify accordingly using your X+
rules.
e If the result is “+” move to the right using the second number.
e If theresultis “-“ move to the left using the second number.
Use the above method, and the given number lines to answer each question:
a) -6-2
< | | | | * I || I AN
~ | 1T 1 1 1 | | 7
b) 3-8
1 11 11 11111 + | 1 1 | | I AN
N b r v b T 1 1 T 1 1 I I 4
-0 9 8 7 6 5 4 3 2 1 0 2 3 4 5 6 § 9 10
c) 4+(-6)
1 1 1 11 1 1111 + L 1 1 | | | 1 | N
N b r 11 b 1T 1P | L L I I R4
-0 9 8 7 6 5 4 3 2 1 0 2 3 4 5 6 § 9 10
d) 7+(-3)
1 1 1 11 1 1111 + L 1 1 | | | 1 | N
N b r 11 b 1T 1P | L L I I R4
-0 9 8 7 6 5 4 3 2 1 0 2 3 4 5 6 § 9 10
e) 2—(-4)
1111 1 1 1111 + L1 1 ] | I AN
~N o r b b b1t 1 I I B U I 4
-0 9 8 7 6 5 4 3 -2 -1 0 2 3 4 5 6 8 9 10
f) -3-(-3)
11111 1 1 111 + I I L1 | N
~N b r 1 r oo I I I I I B 4
10 9 8 -7 6 5 -4 -3 -2 -1 0 2 3 4 5 6 8 9 10
g) -9-(-1)
1111 1 1 1 111 + I I I AN
~N b1t b1 T 1P 1 1T 11 I I
-io 9 8 7 6 5 4 3 2 1 0 2 3 4 5 B g8 9 10



h) 5-2

10

7 8 B

6

9 8 -7 6 5 4 -3 -2 -1

-10

10

7 8 B

6

9 8 7 6 5 -4 -3 -2 -1

-10

j)4+6

5 6 7 8 9 10

4

3

9 8 -7 6 5 -4 3 2 -1

=10

k) -3 + (+ 8)

4 R 7 R R A4 R A

AN

) 1-(-5)

10

7 8 B9

6

9 8 -7 6 5 4 -3 -2 -1

-10

m) -4 - (+5)

41

n) -7 +(-2)

5 6 7 8 9 10

4

3

9 8 -7 6 5 -4 3 2 -1

=10

o) 1—(+5)

5 6 7 8 9 10

4

3

9 8 -7 6 -5 -4 3 2 -1

=10

p) -4~ (-5)

10

7 8 B

6

5

9 8 -7 6 -5 -4 -3 -2 -1

=10



